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Paper : MZO-07
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

e .- ow v e, ‘9 iR Y e mvel | fawfsa )
T&® TUE & FRITER TeHi &% SW s

Section-A 8x2=16
(Very Short Answer Type Questions)

Note -— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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(iv)
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How biodiversity is varied in the mountain
gradients ?
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Enlist the criteria that have contributed to the
recognition of Western Ghats—Sri Lanka
and Indo-Burma regions as hotspots of
biodiversity.
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What are ‘Carbon Credits’ ?

‘e sfee’ ® ¥ ?

What would be a direct consequence of a
single point mutation that modifies the

proteins inside the acrosome ?
Tehel fog Scaftada st for Twiam # 3ufied Wied
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(v) Placenta accreta is a medical condition in (vii) Name the interaction in which an individual

which the placenta attaches abnormally to the gives up or sacrifices some of its own

myometrium. What is the earliest embryonic . :
Y vy reproductive potential to benefit another
stage that this could occur, which cells are o
‘ ' individual.
responsible for this attachment ?
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(vi) Malformation of the peripherial nervous
system is linked to specific group of cells Section-B 4x8=32
formed during neurulation and these cells are (Short Answer Type Questions)
derived from one of 3 embryonic germ layers. Note .— Answer any four questions. Each answer should not
What is the specific group of cells and which exceed 200 words. Each question carries 8 marks.
embryonic layers are they derived from ? -
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2. Write notes on the following :

(@) Imprinting
(b) Ecotones
frefafea w femforer fafem -
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. What are populations ? Write various
characteristics of population and discuss briefly
population stabilization.
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. Give an elaborate account of environmental

biodegradation. Suggest measures for its

prevention.
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. What is meant by social behaviour ? Write an

account of social behaviour in primates.
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. Metamorphosis involves biochemical and autolytic

changes. Discuss them with reference to

amphibians.

HER Th SOEEe o & 5o woases
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. Give an account of natural resources. Explain the

importance of their conservation.
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. What is Regeneration ? What are the physiological

events that occur during Regeneration ?
A ¥ ? S FEeE weisl & fafem S
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. Explain, how Circadian rhythms govern the life

of animals ?
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Note —

10. ()

(b)
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Section—-C 2x16=32
(Long Answer Type Questions)
Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 16 marks.
gug—H
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gl
Relate the homeobox, homeodomain and

master-switch concepts.
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What is genomic equivalence and why is

explaining it a central problem in

developmental genetics ?
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11.

12.

13.

Differentiate between the following :

(@) Involution, Epiboly and Convergent extension
(b) Apoptosis and Necrosis

(c) Holoblastic and Meroblastic cleavage
frefafea # favgs =g .

(31) ifireRar, Tieiel qen S9a fowr

(9) TIrfE" den Jehitad

(¥) Tedsaies g Hilsames fager

Explain the concept of resource partitioning. What
is character displacement ? What are the causes of

character displacement and explain its implications.
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Define migration and describe various types of
migration in fishes with suitable examples.

Comment upon its significance.
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